
 

1 

50cc Sport Cub S2 Addendum  

 
 This addendum will cover the following  
 issues for the 50cc Sport Cub S2.   
 
      If you have any questions regarding the  
         installation of this new hardware please call        

 Aeroworks at (303)-371-4222. 

Step #6 Page 33  
 

1. The front L bracket mounting bolts have been   
changed from 15mm in length to 10mm. These  
new mounting bolts are included in this addendum.  

10mm 

10mm 

Step #1 Page 22 Part A 
 

1. (6) 4-40x20mm Bolts and nuts are included in the 
supplied hardware. These can be used to mount the 
rudder control horns. The builder will need to drill 
6 mounting holes through the rudder using the 
smaller holes as a guide. Thick CA must be placed 
on the nuts after they have been tightened to pre-
vent them from loosening in flight.  

Step #1 Page 22 Part B 
 

1. (12) #2x8mm wood screws  have been included 
with this addendum. It is the builder choice to use 
these screws or the bolts shown above.  Follow the 
steps in the manual if using these mounting 
screws.  Step #1 Page 34 

 
The removable wooden spacer in the front L bracket 
mounting location has been covered over. If you 
wish to remove this tab as shown in the manual the 
covering will need to be removed. Follow the re-
maining steps in the manual once the covering has 
been removed.  



 

2 

50cc Sport Cub S2 Addendum  

 

Step #5 Page 18 
 

1. The eyelets included in the strut hardware pack 
are incorrect. Please use the eyelets provided in the 
addendum and discard the included eyelets.  

Step #4 Page 79 
 
1. The 6-32x16mm strut mounting bolts are too 

long and may damaged the fuse, they have been 
replaced with 6-32x12mm bolts. Please use the 
new bolts provided in this addendum.  

Correct eyelet  


